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1. (25%) A brass bar of length 2.25 m with a square cross section of 90 mm on each side is
subjected to an axial tensile force of 1500 kN (see Figure 1). Assume that Young’s modulus E =
110 GPa and Poisson’s ratio v = 0.34. Determine the increase in volume of the bar.
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2. (25%) In Figure 2, the center post B of the assembly has an original length of 124.7 mm,
whereas posts 4 and C have an original length of 125 mm. If the caps on the top and bottom can
be considered rigid, determine the average normal stress in each post. The posts are made of
aluminum and have a cross-sectional area of 400 mm”. The Young’s modulus E = 70 GPa.
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3. (20%) A shaft of radius r=10 mm is made from an aluminum alloy and is fixed at its ends A
and B. If it is subjected to the two torques shown in Figure 3, determine the reaction at the fixed
supports A and B.

Figure 3

4. A simply supported beam in Figure 4a has the cross-sectional area shown in Figure 4b.
(a) (10%) Draw the moment diagram for the beam.
(b) (10%) Determine the absolute maximum bending stress in the beam.
(c) (10%) Draw the stress distribution over the cross section at the location for maximum

bending stress.
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